Test question with one right answer
Who proposed the binominal nomenclature?
Kto npeninoxun OMHapHYI0 HOMEHKIATYpy?
Lamark
Linnaeus
Leeuwenhoek
Hooke
none of the above
2. A group of individuals of the same spacies living in the same area:
['pyrmiia oco6eit 0JHOTO U TOTO e BU/IA, KUBYIIIUX B OHOU 00JIaCTH:
community
consumers
) producers
D) population
E) Ecosystem
3. All plants are:
Bce pacrenust sBasiroTCS:
Herbivore
consumer
Carnivore
Producer
omnivore
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Kemip/yrouasp
blapiparymbl/peayueHT
bypiiak TyKbIMaac/0000BbIe
Hauzarai/mMoaHusA
MyHal/He(TH
CIHIpY/mOII0mAarh
Epiry/pacTrBopsTh
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TERMINOLOGY

Coal- xkemip/yrosb
Combustion-xaHy/cropanue
Cruts-KbIpThIC/KOpa
Decompose-blIbIpaTyIibl/penpoy KIS
Fossil Fuel-ka30a oTbIH\UCKOITAEMOE TOIIIMBO
Legumes-0Oypimak TYKbIMIac\OOOOBbIE
Lightning-Hait3arail\MOJHUS

Petroleum-mynaii/HepTh

Root nodules- TyliHek/ki1yOeHbKH
To absorb-ciHipy/monomars

To dissolve- epity/mornomniare
Wood-cypek/npeBecruna



Peduexcus: «5 caycak»-O3in-e3i Oaranay

1.Ci31e KaHaai KUbIHABIKTAP 001617

2.Ci3re KaH/1ail TarcelpMa KarThl YHAbI?

3.byrinri keHUI-KyHiM KaHaai 00511617

4.byrin MeH KaHaal KeTICTIKTepre KOoJI )KEeTKi3aiM?
5.Byrid MeH He O1IAIM, KaH1ai ToKipuOe JKMHAKTaAbIM?




